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One mole of a perfect gas at27°C expands isothermally and reversibly from 10 to 1

bar against a pressure that is gragually reduced. Calculate q and w and each of
the thermodynamic quantities AU ,AH ,AG A4, and AS. |

A= (10 %) |

If 68.4 g of sucrose (M=342 g-mol™') is dissolved in 1000 g of water: (a) What is
the vapor pressure(torr) at 20°C ? (b) What is the freezing point 7 The vapor
pressure of water at 20°C is 2.3149 kPa and the ke=1.86".

#AE= (15 )

Under what total pressure at equilibrium must PCI;be placed at 250°C to obtain a
30% conversion into PClLand CI, ? For the reaction PCly,, <> PCly,, +Cly,,
Kp =1.80 at 250°C.
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The half-life time of a first order reaction A—%— B is 10 min. What percent of A
remains after 1 h ¢

®AEE (16 &) |
Calculate the maximum work obtained by the adiabatic expansion of 2 moles of
ideal N, gas, initially at 25°C, from 10L to 20 L. Assume C,=2.5R
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